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Sidlaenrser : (1) <ioass Aamssend slursl uferd o dersm earUgmané
sfluriégé Qamereraybd. FsILSele Gopulmuber, <f@mns
semsTentiliuremiLib o Langwnss Csfleilésal.

@ B ooeg seUY owllear LLECL  TYIHUSHED.
<19.5Csmy QeusnGh Lwau®ss GCeamhHib. UL BI&6ET euanfalsn G
Quenfled LITUHSSELD.

Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.

Instructions : (1)

L@ - 1/ PART - I

@iy (1) Sien6sTEE) aAaTESH@hEED eflenL_wefld s e . 20x1=20

(i) OarGasuul(Herer pren@ wron ofelseiled Waabd gpymL-

eflen_enwig CoipolsHS5)5 GO Qe eflenLuleaniid Csigs) er(pSaLD.

Answer all the questions.

appropriate answer from the given four alternatives and write

Note : (1)
(ii) Choose the most
the option code and the corresponding answer.

[ $BLYs / Turn over

www.freetnbooks.com | FREETBOOKS



www.freetnbooks.com

| 0 1) & T 60T
A LHYILDL B eremaT @6 ;F;]askpg-eﬂa;m erafléd, sflwrs ¢ ﬁw&&‘ﬁ Blepelsh

‘[5]551,9585611 Teng)

(<=1) P(A)+P(B)-P(ANB) (28) PAU B) + P(AUB)

(@) P(A)+P(B)+2P(ANB) () P(ANB)+P(ANB) |
If A and B are any two events, then the probability that exactly one of them occurs 18 -
(a) P(A)+P(B)-P(An B) (b) P(AUB)+ P(AUB)

(c) P(A)+P(B)+2P(ANB) (d) P(ANB)+P(ANB)

2. (x, —2), (5, 2), 8 8) crenuien g CHTLenbLI LieTafgeT eresie, x -@ gL

' 1
(=) 1 (<) -3 (@73 (%) 3
If the points (x, —2), (5, 2), (8, 8) are collinear, then x is equal to :
' 1
@ 1 B -3 © 3 @ 3
3. |x—1| = |x—3| Tenm NS Iq.601 ST6 S Semrid :
(=) ©2) (<) [0, 2] (&) (—=.2) w12 )
The solution set of the following inequality [x—1| = |x—3|is: >
@ (O 2 () [0 2] © (== 2 d [2 =)
4. 2+4+6+...+2n -ar HIY
2n(2n +1 nn—1) n(n + 1)
(o ZEID ) 20D (gamey  m T
The valt;.e of 2+4+6+...+2nis:
-1 nn+1
@ 2@y 22D g ey @ M
5. 3o giger ClETaL samsden Bpran Qpmisefar erammanflsams :
(Lo 512 ()9 i) L (/) 81
The number of relations on a set containing 3 elements is :
(@) 512 b 9 (c) 1024 (d) 81
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; 23 g

epenml gy e, @ QUETSET HMID BraE GRHMSEET 2 6ar qh @ (peilelmba)
FeumiiLy wepulle) Bren@ puUTEer CainosHdEsuLbdeamant. geuirseated Fflwirs
Qmeuit IO GhHenssents QMUILSHsTa HEDSHa] :
1 5 10 10
(=) 5 (=) 7 87 5 (F) 23
Four persons are selected at random from a group of 3 men, 2 women and 4 children. The
probability that exactly two of them are children is :
Il 3 10 10
@ 3 ® © 7 @ 2
7. lim| x | =
x—3
(=1) wHiy Geama ()2
(@) 0 - 3
lim| x_| =
x—3
(a) Value does not exist (b) 2
(@ O d 3
8. x=-3a f(x)=x|x| -e cuensuliLaSler FlLLy : '
(<=1) Sl sasl1CupTg (%%
(&) o () =6
The derivative of f(x)=x|x|at x=—3 is:
(@) does not exist (b) 6
(© O (d -6

9. 343 -1 DLEMS 3 eTafled, DASE <|lqLOTEILD :

(=1) 6 (<2$)5 (@) ] 7
If 3 is the logarithm of 343, then the base is :
(a) 6 (b) 5 (© 9 @ 7
10. A ABC @@ sinA +sin?B +sin’C=2 erafled ips WpECaTemorans) :
(&1 QariiGamem (p&ECHTETLD (<) s0LES WP&ECHTERTLD
(@) =As0UsS WPEGCHTETD (F) QBHELLES W&CaTamTd
In a triangle ABC, sin2A + sin?B +sin?C=2, then the triangle is :
(a) right triangle (b) c'aquilateral triangle
(c) scalene triangle (d) isosceles triangle
- . [ &®UYs / Tum over
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11.  erebemd @ben erarseTTaEs ClsTea 5 Q&S erasrsaflen eramanilsans

(<=1) 56 (<p) 25 (&) 625 Jrat

The number of 5 digit number, all digits of which are odd is :

(a) 56 b) 25 () 625 (d) 5°

12. (1, —1) eranp yarell e G Qadeugitb LOMID 3x+4y=6 -&@ CemEGsgTangwma
Crr&Gamiiger goearur@ :

(=) 4x+3y+7=0 (:2J4x—3y-7=0 (@) Bx+4y+7=0 (m) 3x+4y—7=0

The equation of the line throdgh the point (1, —1) and perpendicular to 3x+4y=6is :

(b)/ 4x—3y-7=0 () 3x+4y+7=0 (d) 3x+4y—7=0

(@) 4x+3y+7=0

13. J‘23x+5 dx=

(1) 2log3 (<=1) og 2
S5e 9 & 23x +5
| ——— +c
(&) 3log2 T WZlog(Bx + 5)
J’23x+5 dxis:
23x+5 3(23x+5)
+ e——— e
@ 2logs B g
i (+5
23x + J 231 + —
TTon 2 SRR L
(&) 3logz (d)  2log (3x +5)
14. y=log.x 6T 601D gminlen (g,lberDrr@l :
(é{) y_—_-el’ %‘V:bgex (@) y=e~.\‘ ('T) ]/=—logex
The inverse function of y=log,x is :
g (@ y=e* ®)  y=log.x () y=e™* (d) y=-logx




15.

16.

17.

18.
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25%  om
(2, 3) wpmd (~1, 4) erenp LeTalamer QaamsEd CrTECsT G en B8 (o, B) erem
Yerrafl @mpsme

(orfa+3p=11  (=)a+28=7 (@) 30+B=11  (F) 3u+p=9

Straight line joining the points (2, 3) and (-1, 4) passes through the point (e, ) if :

(@) a+3p=11 (b) a+2p=7 () 3a+p=11 (d) 3a+p=9
|;>‘ = IB’! =4, E’I =5 WHmLD a+b+c=0 eafld a LHMILD b -5@ @eLCGw

o _cirer CamenTLd :
(<21) 60° (<) 0 (@l 15 () 90°

) = = - -
c = 0 then the angle between a and b is:

If ,;” =3, IQ‘ =4, IE’[ =5 and : + b +
(a) 60° () 0 @] 45° d 90°

1

J'i:_dx_—_k(gl“-) + ¢ erefled, k -am Sl :
2

1 1
(=) ~ g3 (<) log3 &) Tog 3 () —log3
l’ 1
If .[’:'3:2_ dx =k (3?) + ¢, then the value of kis:
X
1 1
(@ - log 3 (b) log3 (© log3 (d) -—log3
cos 28°+sin 28°=k3 grafldy cos 17° -& WS :
(2 = 5 (21> @ - (m) - %
If cos 28°+sin 28°=k3, then cos 17° is equal to :
3 3
k> K3 _ k7 K
@ *5 ® (©) 7 @ -7
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19. —(3 s'mx°) :

1
m ™ e o - S o
(1) 55 cosa® (<) 7gp 08 % (& ~ cosx () Gg cosx

i o el o o= o
(a) o cosa® (b) Tgg o8 (c) — cosx (d) g cosx

= : : :
20. a +2b HOID 3a +tmb pduemel Gaarr erafled, m -an WAL :

1 1

(6 (a3)3 @ : (") 3
If 2 +2b and 32 +mb are parallel, then the value of m is :

A : ) 1

@ 6 ®) 3 © @ 3

L@S - 11/ PART - II

GOl : amaGuaib g damrssErse oL walssen. dlam aar 30 -&@
sLLmuwng e wefl&say. 7x2=14

Note : Answer any seven questions. Question No. 30 is Compulsory.

21, 5G+00=00+0R aaflés, P,Q, R < Swmes @Cr GCarLeno yateflsar erar Hmieys.

_— = T2 = )
If PO+0Q=0Q0+O0R, prove that the points P, Q, R are collinear.

22. Qe germenumeny elewsHu A, B, C wpmib D eraim prevs Hspsflsamer
(b Qarer e GCarganemlen Hlapidseiarn Hlapssalsed sréHuioreremeuwm
crans ‘gf)r‘rwrredﬂéh&@ﬂb.
p(A)=0.15, P(B)=0.30, P(C) =0.43, P(D)=0.12

An experjment has the four possible mutually exclusive and exhaustive outcomes A,B,C
and D. Check if the following assignments of probability are permissible,

P(A) =0.15, P(B) =0.30, P(C) =0.43, P(D) =0.12
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